Efficiency vs dr

x 0.2
<
©0.18
20.16
c
Q
50.14
=
®0.12
0.
0.08
0.06
0.04
0.02
J..\.e

Ratio

0.95

0.9

107

111
DOM_MKFT
—_— DQM _mKFit5 TT retraanIdF|Ie5125 v2_prelimWP_epoch4

—_— D8M mKkFit_TT_baseline_6iter

—i— DOM_mKFit6_TT | retraan'IdFlIeleS v2 prelimWPiepoch4

A

10*2 107

1
TP min AR

[ Efficiency vs dr (track,jet) |

B 0.1

0 0.09

=

o

x 0.08

£20.07

&

£ 0.06

@

=]

£ 0.05]

©
0.04

0.03

0.02

0.01

e

Ratio
N

0.95

1072 107
AR(TP, jet)

....................................

TTH

O[T T[T

3640 50 6070 B0 90 100
Pileup



	Contents
	Page 1


